# Acta Universitatis Carolinae. Mathematica et Physica 

Alexander Ženíšek
Tetrahedral finite $C^{(m)}$-elements

Acta Universitatis Carolinae. Mathematica et Physica, Vol. 15 (1974), No. 1-2, 189--193

Persistent URL: http://dml.cz/dmlcz/142354

## Terms of use:

© Univerzita Karlova v Praze, 1974

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.
This paper has been digitized, optimized for electronic delivery and stamped
with digital signature within the project DML-CZ: The Czech Digital
Mathematics Library http://project.dml.cz

# Tetrahedral Finite $C^{(m)}$-elements 

A. ŽENISEK

Computing Center of the Technical University, Brno

In [3] and [4] there was expressed the following conjecture: The simplest polynomial on the $d$-dimensional simplex which generates piecewise polynomial and $m$-times continuously differentiable functions is of the degree $2^{d} m+1$.

It is known that this is true in the cases $d=1$ and $d=2$ for arbitrary $m$ and in the case $d=3$ for $m \leqslant 2$ (see, e.g., [3]). In this paper there is studied the case $d=3$ generally.

## I. The Parameters Guaranteing the $C^{(m)}$ - continuity

Besides the usual notation for derivatives

$$
\begin{gathered}
D^{\alpha} f=\partial^{|\alpha|}|f| \partial x^{\alpha_{1}} \partial y^{\alpha_{2}} \partial z^{\alpha_{3}} \\
\alpha=\left(\alpha_{1}, \alpha_{2}, \alpha_{3}\right),|\alpha|=\alpha_{1}+\alpha_{2}+\alpha_{3}
\end{gathered}
$$

we shall use the operators $D_{i}^{\beta}$ and $D_{j k}^{\beta}$ which are defined by

$$
\begin{gathered}
D_{j k}^{\beta} f=\partial^{|\beta|} f / \partial s_{j k}^{\beta_{1}} \partial t_{j k}^{\beta_{2}}, \quad D_{i}^{\beta} f=\partial^{|\beta|} f / \partial s_{i^{2}}^{\beta} \partial t_{i}^{\beta_{2}}, \\
\beta=\left(\beta_{1}, \beta_{2}\right), \quad|\beta|=\beta_{1}+\beta_{2} .
\end{gathered}
$$

The symbols $s_{j k}, t_{j k}$ mean two arbitrary but fixed directions such that the directions $P_{j} P_{k}, s_{j k}, t_{j k}$ are perpendicular to one another, $P_{j} P_{k}$ being a given edge of the tetrahedron $\bar{U}$. The symbols $s_{i}, t_{i}$ denote two arbitrary but fixed directions such that the directions $n_{i}, s_{i}, t_{i}$ are perpendicular to one another, $n_{i}$ being the normal to the $i$-th triangular face of the tetrahedron $\bar{U}$.

Let us prescribe at the vertices $P_{i}$ and on the edges $P_{j} P_{k}$ of the tetrahedron $\bar{U}$ the parameters

$$
\begin{gather*}
D^{\alpha} p\left(P_{i}\right), \quad|\alpha| \leqslant 4 m, \quad i=1, \ldots, 4  \tag{1}\\
D_{j k}^{\beta} p\left(Q_{i k}^{(r, s)}\right), \quad|\beta|=s, \quad r=1, \ldots, s ; \quad s=1, \ldots, 2 m \tag{2}
\end{gather*}
$$

where $j=1,2,3, k=2,3,4(j<k)$ and $Q_{j k}^{(1, s)}, \ldots, Q_{j k}^{(s, s)}$ are the points dividing the edge $P_{j} P_{k}$ into $s+1$ equal parts.

At the center of gravity $Q_{i}$ of the triangular face which lies opposite to the vertex $P_{i}$ let us prescribe the parameters

$$
\begin{align*}
& D_{i}^{\beta} \frac{\partial^{2} \varrho-2 p\left(Q_{i}\right)}{\partial n_{i}^{2} \varrho-2},|\beta| \leqslant 2 m+\varrho-3, i=1, \ldots, 4  \tag{3}\\
& D_{i}^{\beta} \frac{\partial^{2 \sigma-1} p\left(Q_{i}\right)}{\partial n_{i}{ }^{2 \sigma-1}}, \quad|\beta| \leqslant 2 m+\sigma-1, i=1, \ldots, 4 \tag{4}
\end{align*}
$$

where in the case

$$
\begin{equation*}
m=2 x-1 \tag{5}
\end{equation*}
$$

it holds

$$
\begin{equation*}
\varrho=1, \ldots,(m+1) / 2, \sigma=1, \ldots,(m+1) / 2 \tag{6}
\end{equation*}
$$

and in the case

$$
\begin{equation*}
m=2 x \tag{7}
\end{equation*}
$$

it holds

$$
\begin{equation*}
\varrho=1, \ldots,(m / 2)+1, \quad \sigma=1, \ldots, m / 2 . \tag{8}
\end{equation*}
$$

At last in the case of each $\varrho \geqslant 2$ let us prescribe the parameters

$$
\begin{equation*}
\frac{\partial^{s} p\left(Q_{j k}^{(r, s)}\right)}{\partial \nu_{i ; k}^{s-2 \rho+2} \partial n_{i}^{2 \varrho-2}}, \quad r=1, \ldots, s ; \quad s=2 m+1, \ldots, 2 m+\varrho-1 \tag{9}
\end{equation*}
$$

and in the case of each $\sigma \geqslant 2$ the parameters

$$
\begin{equation*}
\frac{\partial^{s} p\left(Q_{j k}^{(r, s)}\right)}{\partial \nu_{i j k}^{s-2 \sigma+1} \partial n_{i}^{2 \sigma-1}}, \quad r=1, \ldots, s ; s=2 m+1, \ldots, 2 m+\sigma-1 \tag{10}
\end{equation*}
$$

where $i=1, \ldots, 4, j=1,2,3, k=2,3,4(j \neq i, k \neq i, j<k), \nu_{i j k}$ is the direction perpendicular to the normal $n_{i}$ and to the edge $P_{j} P_{k}$ and the values of $\varrho, \sigma$ are given in the cases (5) and (7) by (6) and (8), respectively.

It is easy to see that the total number of the parameters (1), (2), (3), (4), (9), (10) is given in both cases (5) and (7) by

$$
\begin{equation*}
N_{1}=\left(452 m^{3}+612 m^{2}+208 m+24\right) / 6 . \tag{11}
\end{equation*}
$$

Thus it holds for $m \geqslant 1$

$$
\begin{equation*}
N_{1}<N \tag{12}
\end{equation*}
$$

where $N$ is the total number of coefficients of a polynomial of the degree $8 m+1$ in three variables,

$$
\begin{equation*}
N=(8 m+2)(8 m+3)(8 m+4) / 6 \tag{13}
\end{equation*}
$$

The following theorem is a consequence of the theorems concerning the unique determination of triangular $C^{(m)}$-elements [1, 2].

Theorem 1. Let $P_{\varkappa}, P_{\lambda}, P_{\mu}(\varkappa<\lambda<\mu)$ be three vertices of the tetrahedron $\bar{U}$ and $Q_{\tau}$ the center of gravity of the triangular face $P_{\chi} P_{\lambda} P_{\mu}$. Let the polynomial $p(x, y, z)$ of the degree $8 m+1$ be given in such a way that the values (1) - (4), (9), (10) are equal to zero at the points $P_{i}(i=x, \lambda, \mu), Q_{j k}^{(r, s)}(j=x, \lambda ; k=\lambda, \mu$; $j<k$ ) and $Q_{\tau}$. Then it holds

$$
\begin{equation*}
D^{\alpha} p(x, y, z)=0, \quad|\alpha| \leq m,(x, y, z) \in \pi_{\tau} \tag{14}
\end{equation*}
$$

where $\pi_{\tau}$ is the plane determined by the points $P_{\chi}, P_{\lambda}, P_{\mu}$.
Corollary. Let $\bar{U}_{1}, \bar{U}_{2}$ be two tetrahedrons with a common face and let $U_{1} \cap U_{2}=\emptyset$. Let on each tetrahedron $\bar{U}_{i}$ there be given a polynomial $p_{i}(x, y, z)$
( $i=1,2$ ) in such a way that the parameters (1) - (4), (9), (10) prescribed at the points of the common face are the same for both polynomials. Then the function

$$
\begin{equation*}
f(x, y, z)=p_{i}(x, y, z), \quad(x, y, z) \in \bar{U}_{i} \quad(i=1,2) \tag{15}
\end{equation*}
$$

is $m$-times continuously differentiable on the union of $\bar{U}_{1}$ and $\bar{U}_{2}$.

## 2. Existence of Tetrahedral $C^{(m)}$-elements

It remains to complete the parameters (1) - (4), (9), (10) by $N-N_{1}$ parameters in such a way that we get $N$ independent conditions for $N$ coefficients of a polynomial of the degree $8 m+1$. The relatively simple case $m \leqslant 2$ is introduced in Theorem 2, the case $m \geqslant 3$ in Theorem 3. The following lemma is a generalization of one device which was used in the proof of [1, Theorem 1].

Lemma 1. Let the polynomial $p(x, y, z)$ of the degree $n$ satisfies Eq. (14). Then it holds

$$
\begin{equation*}
p(x, y, z)=\left[f_{\tau}(x, y, z)\right]^{m+1} q_{n-m-1}(x, y, z), \tag{16}
\end{equation*}
$$

where $q_{n-m-1}(x, y, z)$ is a polynomial of the degree $n-m-1$ and $f_{\tau}(x, y, z)$ is a linear function defined by the relation

$$
f_{\tau}(x, y, z)=\left|\begin{array}{cccc}
x & x_{\varkappa} & x_{\lambda} & x_{\mu}  \tag{17}\\
y & y_{\chi} & y_{\lambda} & y_{\mu} \\
z & z_{\chi} & z_{\lambda} & z_{\mu} \\
1 & 1 & 1 & 1
\end{array}\right|
$$

The symbols $x_{i}, y_{i}, z_{i}(i=\varkappa, \lambda, \mu)$ denote the coordinates of the vertices of the $\tau$-th triangular face.

Theorem 2. A polynomial $p(x, y, z)$ of the degree $8 m+1(m \leqslant 2)$ is uniquely determined by the parameters (1)-(4), (9) and by

$$
\begin{equation*}
D^{\alpha} p\left(P_{0}\right), \quad|\alpha| \leqslant 4 m-3, \tag{18}
\end{equation*}
$$

where $P_{0}$ is the center of gravity of the tetrahedron $\bar{U}$.
$\dot{\text { Proof. In the case }} m=0$ the assertion of Theorem 2 is trivial. Let in the case $1 \leqslant m \leqslant 2$ all prescribed parameters be equal to zero. Then, according to Theorem 1 and Lemma 1, it holds

$$
\begin{equation*}
p(x, y, z)=g_{m+1}(x, y, z) q_{4 m-3}(x, y, z) \tag{19}
\end{equation*}
$$

where

$$
\begin{equation*}
g_{k}(x, y, z)=\left[f_{1}(x, y, z) f_{2}(x, y, z) f_{3}(x, y, z) f_{4}(x, y, z)\right]^{k} \tag{20}
\end{equation*}
$$

and $q_{4 m-3}(x, y, z)$ is a polynomial of the degree $4 m-3$.
As $g_{m+1}\left(P_{0}\right) \neq 0$, we get from Eq. (19) and from the assumption that the parameters (18) are equal to zero

$$
\begin{equation*}
D^{\alpha} q_{4 m-3}\left(P_{0}\right)=0, \quad|\alpha| \leqslant 4 m-3 . \tag{21}
\end{equation*}
$$

The conditions (21) imply $q_{4 m-3}(x, y, z) \equiv 0$. Thus, according to Eq. (19), $p(x, y, z) \equiv 0$. Theorem 2 is proved.

The situation in the case $m \geqslant 3$ is more complicated because it is impossible to prescribe parameters (18). (The total number of the parameters (1)-(4), (9), (10), and (18) is in the case $m \geqslant 3$ greater than $N$.)

Let $\left\{L_{4 m-3}, L_{4 m-4}, \ldots, L_{2 m-4}, L_{2 m-3-6 j}, L_{2 m-4-6 j}\right\}$, where $j=1, \ldots, k$ in the cases $m=3 k+3, m=3 k+4$ and $j=1, \ldots, k+1$ in the case $m=3 k+5$, be a system of non-identical planes which are parallel to the face $f_{1}(x, y, z)=0$, $i_{\text {intersect the the trahed }}^{\bar{U} \text { and do not contain both the vertices } P_{i} \text { and the centres }}$ of gravity $Q_{i}(i=1, \ldots, 4)$. Let $R_{1}^{(r)}, \ldots, R_{M_{r}}^{(r)}$, where $M_{r}=(r+1)(r+2) / 2$, be a set of points lying both in the plane $L_{r}$ and in the interior $U$ of the tetrahedron $\bar{U}$ and being ordered in such a way as $M_{r}$ integers in the Pascal triangle. Let $h^{(r)}(x, y, z)$ be such a linear function that $h^{(r)}(x, y, z)=0$ is the equation of the plane $L_{r}$.

Theorem 3. A polynomial $p(x, y, z)$ of degree $8 m+1(m \geqslant 3)$ is uniquely determined by the parameters (1)-(4), (9), (10) and by the parameters (25)-(27):

$$
\begin{gather*}
p\left(R_{s}^{(r)}\right), \quad s=1, \ldots, M_{r} ; \quad r=2 m-4, \ldots, 4 m-3,  \tag{25}\\
D_{i}^{\beta} \frac{\partial^{m+j+1} p\left(Q_{i}\right)}{\partial n_{i}^{m+j+1}}, \quad|\beta| \leqslant m-4-3 j, i=1, \ldots, 4 \tag{26}
\end{gather*}
$$

where $j=0, \ldots, k-1$ in the case $m=3 k+3 ; j=0, \ldots, k$ in the cases $m=3 k+$ +4 and $m=3 k+5$,

$$
\begin{equation*}
p\left(R_{s}^{(r)}\right), s=1, \ldots, M_{r} ; r=2 m-4-6 j, 2 m-3-6 j \tag{27}
\end{equation*}
$$

where $j=1, \ldots, k$ in the cases $m=3 k+3$ and $m=3 k+4 ; j=1, \ldots, k+1$ in the case $m=3 k+5$.

We sketch the proof in the case $m=3 k+3$ : Let us suppose that all the parameters (1)-(4), (9), (10), (25)-(27) (the total number of which is equal to $N$ ) are equal to zero. Then, according to Theorem 1 and Lemma $1, p(x, y, z)$ is of the form (19). Applying on the polynomial (19) homogeneous parameters (25) we get, according to Lemma 2 and with respect to the relation $2 m-5=6 k+1$ :

$$
\begin{equation*}
p(x, y, z)=g_{m+1}(x, y, z) h_{0}(x, y, z) q_{6 k+1}(x, y, z) \tag{28}
\end{equation*}
$$

where $h_{0}(x, y, z)=h^{(4 m-3)}(x, y, z) h^{(4 m-4)}(x, y, z) \ldots h^{(2 m-4)}(x, y, z)$. As the parameters (1) are equal to zero, we get, according to Lemma 3,

$$
\begin{equation*}
D^{\alpha} q_{6 k+1}\left(P_{i}\right)=0, \quad|\alpha| \leqslant 3 k, \quad i=1, \ldots, 4 \tag{29}
\end{equation*}
$$

Homogeneous parameters (26) with $j=0$ imply, according to Lemma 4,

$$
\begin{equation*}
D_{i}^{\beta} q_{6 k+1}\left(Q_{i}\right)=0, \quad|\beta| \leqslant 3 k-1, \quad i=1, \ldots, 4 \tag{30}
\end{equation*}
$$

It follows from Eqs. (29), (30) that

$$
\begin{equation*}
q_{6 k+1}(x, y, z)=g_{1}(x, y, z) q_{6 k-3}(x, y, z) \tag{31}
\end{equation*}
$$

Substituting (31) into (29) and then applying homogeneous parameters (27) with $j=1$ we get

$$
\begin{equation*}
p(x, y, z)=g_{m+2}(x, y, z) h_{1}(x, y, z) q_{\partial(k-1)+1}(x, y, z) \tag{32}
\end{equation*}
$$

where $h_{1}(x, y, z)=h_{0}(x, y, z) h^{(2 m-10)}(x, y, z) h^{(2 m-9)}(x, y, z)$. It is easy to prove by induction that after $k$ steps we get

$$
\begin{equation*}
p(x, y, z)=g_{m+k+1}(x, y, z) h_{k}(x, y, z) q_{1}(x, y, z) \tag{33}
\end{equation*}
$$

where $h_{k}(x, y, z)=h_{k-1}(x, y, z) h^{(2 m-3-6 k)}(x, y, z) h^{(2 m-4-6 k)}(x, y, z)$. As the parameters (1) are equal to zero Lemma 2 implies $q_{1}(x, y, z) \equiv 0$. Thus $p(x, y, z) \equiv$ $\equiv 0$. Theorem 3 is proved.

Lemma 2. Let $q_{r}(x, y, z)$ be a polynomial of degree $r$. If

$$
q_{r}\left(R_{s}^{(r)}\right)=0, s=1, \ldots,(r+1)(r+2) / 2
$$

then

$$
q_{r}(x, y, z)=h^{(r)}(x, y, z) q_{r-1}(x, y, z)
$$

Lemma 3. Let the polynomial $p(x, y, z)$ be of the form

$$
\begin{equation*}
p(x, y, z)=g_{\lambda}(x, y, z) h(x, y, z) q(x, y, z) \tag{34}
\end{equation*}
$$

where the polynomial $g_{\lambda}(x, y, z)$ is defined by Eq. (20) and the polynomial $h(x, y, z)$ satisfies the relations $h\left(P_{i}\right) \neq 0(i=1, \ldots, 4)$. If

$$
D^{\alpha} p\left(P_{i}\right)=0, \quad|\alpha| \leqslant s \quad(s \geqslant 3 \lambda)
$$

then

$$
D^{\alpha} q\left(P_{i}\right)=0, \quad|\alpha| \leqslant s-3 \lambda
$$

Lemma 4. Let the polynomial $p(x, y, z)$ be of the form (34) where the polynomial $h(x, y, z)$ satisfies the relations $h\left(Q_{i}\right) \neq 0$. If

$$
D_{i}^{\beta} \frac{\partial^{\lambda} p\left(Q_{i}\right)}{\partial n_{i}^{\lambda}}=0, \quad|\beta| \leqslant s
$$

then

$$
D_{i}^{\beta} q\left(Q_{i}\right)=0, \quad|\beta| \leqslant s
$$

## References

[1] Bramble, J. H., Zlamal, M.: Triangular Elements in the Finite Element Method. Math. Comp. 24, 809-820 (1970).
[2] ŽentŠek, A.: Interpolation Polynomials on the Triangle. Numer. Math. 15, 283-296 (1970).
[3] Z̈entŠex, A.: Hermite Interpolation on Simplexes in the Finite Element Method, pp. 271-277. Proceedings of Equadiff III, Brno (1972).
[4] ŽenfŠek, A.: Polynomial Approximation on Tetrahedrons in the Finite Element Method. J. Approx. Theory 7, 334-451 (1973).

